OPA552 stability
Here is the original ckt, shows about 48deg which is not bad, It is very possible that the 8pF total input C I am using is lower than physical device. Also, what is the load – really – The easy think to try is to drop Rf and R2 down by a factor of 10X
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This approach is described in these articles, 
https://www.planetanalog.com/author.asp?section_id=3404&doc_id=565056&
https://www.planetanalog.com/author.asp?section_id=3404&doc_id=565077&

If I add a 50pF load, the phase margin drops down to 33deg, more like the overshoot you are seeing, 

[bookmark: _GoBack][image: ]
image1.png
Vst

Tnput
Cparasitic

Ri6k

+

v

vs24 41

C199.97MEG

VG2

R8 99

12 99.97ME]
preeu|

OPASS2

File Edit View Process Help

ealzalvaag 77 A
10000,
8

200001~

100.00- | x -1.08k ¥
_ ~Frequency and Siope.
§ 0001 |[r oeom 7 arasm
3 10000
£ 20000

-300.00:

10K Toox M o Toou
Frequency (Hz)
AC Bode90 | TR resut20 | AC Bode91 | AC Bode92 | AC Bode93 | AC Bode94 AC Bodeds | [« »

| X11 Y166





image2.png
M+

Cpar8p

Ri6k

C199.97TMEG
vs39

VG2
Fvsan
2

12 99.97ME]
preeu|

R8 99

OPAS52

S

c250p

File Edit View Process Help
Blea[raag r¥<Aa~0KKNEY -
10000,
a o0
& 0000] | c[iswec v
[ 1stmes |
B
[x -10.01k y.-3353
“FrequencyandSiope
| £oossu 7 adsm
Toox M o Toou|
Frequency (Hz)
TR resuk20 | AC Bode91 | AC Bode92 | AC Bode93 | AC Bode94 | AC Bode95 AC Bode96 | [« | »
| X495 Y:340 4

(12.92M,-679.07)





